
1 | P a g e  
 

Question Bank 
 

CLASS 12TH 
MATHEMATICS 

UNIT-4(PART-1) 

 Assertion-Reason Questions  
  Instructions:  
Select the correct option for each Assertion-Reason question. 
(A) Both assertion and reason are correct, and the reason is the correct explanation of 
assertion. 
(B) Both assertion and reason are correct, but the reason does not explain the assertion. 
(C) Assertion is correct, but the reason is incorrect. 
(D) Assertion is incorrect, but the reason is correct. 
Ǔनदȶश :- 

1. Ĥ×येक Ĥæन मɅ एक कथन(A) और एक कारण (R) Ǒदया गया है। 

2. आपको दोनɉ कथनɉ का सावधानीपवू[क ͪवæलेषण करके सहȣ उƣर का चयन करना है: 
A) A और R दोनɉ सहȣ हɇ, और R, A कȧ सहȣ åयाÉया करता है। 

B) A और R दोनɉ सहȣ हɇ, लेͩ कन R, A कȧ सहȣ åयाÉया नहȣं करता। 

C) A सहȣ है, लेͩ कन R गलत है। 

      D) A गलत है, लेͩ कन R सहȣ है। 
 

1.  Assertion (A) / कथन (A):  The magnitude of a unit vector is always 1. 

एक  एकांक सǑदश का पǐरमाण हमेशा 1 होता है। 

 Reason (R) / कारण (R):  A unit vector is defined as a vector whose magnitude is 0. 

एक  एकांक सǑदश को वह  सǑदश कहा जाता है िजसका पǐरमाण 0 होता है। 

2.  Assertion (A) / कथन (A):  Two vectors are said to be collinear if their cross product is 
zero. 
यǑद दो सǑदशɉ  का सǑदश  गणुनफल शÛूय हो, तो व ेसरेंख  होत ेहɇ। 

 Reason (R) / कारण (R):  The cross product of two parallel vectors is always zero. 

दो समानांतर सǑदशɉ  का सǑदश  गणुनफल हमेशा शÛूय होता है। 

3. Assertion (A) / कथन (A):  The direction cosines of a vector are always between -1 and 1. 

ͩकसी  सǑदश के Ǒदशा कोÏया  हमेशा -1 और 1 के बीच होत ेहɇ। 
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 Reason (R) / कारण (R):  Direction cosines are the cosines of the angles made by a vector 
with the coordinate axes. 
Ǒदशा कोÏया  उन कोणɉ के कोÏया  होत ेहɇ, जो सǑदश Ǔनदȶशांक अ¢ɉ के साथ बनाता है। 

 4.  Assertion (A) / कथन (A):  If two vectors are perpendicular, their dot product is zero. 

यǑद दो  सǑदश परèपर लबंवत हɉ, तो उनका अǑदश  गणुनफल शÛूय होता है। 

 Reason (R) / कारण (R):  The dot product of two vectors is given by: 𝐴 .ሬሬሬሬ⃗  𝐵 ሬሬሬ⃑ = ห𝐴 ሬሬሬ⃑ หห𝐵ሬ⃑ ห𝑐𝑜𝑠𝜃. 

दो सǑदशɉ  का अǑदश  गणुनफल इस Ĥकार Ǒदया जाता है: 𝐴 .ሬሬሬሬ⃗  𝐵 ሬሬሬ⃑ = ห𝐴หห𝐵ሬ⃑ ห𝑐𝑜𝑠𝜃 

5. Assertion (A) / कथन (A):  The position vector of a point dividing a line segment in the 

ratio m:n is given by: r = (m 𝐵 ሬሬሬ⃑  + n 𝐴) / (m+n). 
ͩकसी रेखाखंड को m:n अनपुात मɅ ͪवभािजत करने वाल ेǒबदं ुका िèथǓत सǑदश इस Ĥकार होता है: r = (mB 

+ nA) / (m+n)। 

 Reason (R) / कारण (R):  This is derived using the section formula in coordinate geometry. 

यह Ǔनदȶशाकं ÏयाͧमǓत मɅ ͪवभाजन सğू का उपयोग करके Ǔनकाला जाता है। 

 6. Assertion (A) / कथन (A):  The dot product of two vectors is a scalar quantity. 

दो सǑदशɉ  का अǑदश गणुनफल एक अǑदश राͧश होती है। 

 Reason (R) / कारण (R):  The dot product represents the projection of one vector onto 
another. 
अǑदश  गणुनफल एक  सǑदश को दसूरे  सǑदश पर Ĥ¢ेͪपत करता है। 

 7.  Assertion (A) / कथन (A):  The cross product of two vectors is commutative. 

 दो सǑदशɉ  का सǑदश गणुनफल Đम-ͪवǓनमये  होता है। 

 Reason (R) / कारण (R):  The cross product is given by: 𝐴 ሬሬሬ⃗  × 𝐵ሬ⃗ = ห𝐴หห𝐵ሬ⃑ หsinθ n̂. 

सǑदश गणुनफल इस Ĥकार Ǒदया जाता है: 𝐴 ሬሬሬ⃗  × 𝐵ሬ⃗ = ห𝐴หห𝐵ሬ⃑ หsinθ n̂. 

 8. Assertion (A) / कथन (A):  The scalar product of two perpendicular unit vectors is zero. 

दो परèपर लबंवत इकाई सǑदशɉ  का अǑदश  गणुनफल शÛूय होता है। 

 Reason (R) / कारण (R):  The scalar product of two vectors is given by: 𝐴 .ሬሬሬሬ⃗  𝐵 ሬሬሬ⃑ = ห𝐴 ሬሬሬ⃑ หห𝐵ሬ⃑ ห𝑐𝑜𝑠𝜃 

दो सǑदशɉ  का अǑदश  गणुनफल इस Ĥकार Ǒदया जाता है: 𝐴 .ሬሬሬሬ⃗  𝐵 ሬሬሬ⃑ = ห𝐴 ሬሬሬ⃑ หห𝐵ሬ⃑ ห𝑐𝑜𝑠𝜃 

 

 9. Assertion (A) / कथन (A):  A zero vector has a definite direction. 

एक शÛूय  सǑदश कȧ एक Ǔनिæचत Ǒदशा  होती है। 

 Reason (R) / कारण (R):  The zero vector has no magnitude and hence no specific direction. 

शÛूय  सǑदश का कोई पǐरमाण नहȣं होता है, इसͧलए इसकȧ कोई ͪवशषे Ǒदशा नहȣं होती है। 
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 10.  Assertion (A) / कथन (A):  The vector product of two vectors is maximum when the angle 
between them is 90°. 
दो सǑदशɉ  का  सǑदश गणुनफल अͬधकतम होता है जब उनके बीच का कोण 90° होता है। 

 Reason (R) / कारण (R):  The cross product formula involves the sine function, which is 
maximum at 90°. 
सǑदश गणुनफल सğू मɅ Ïया फलन शाͧमल होता है, जो 90° पर अͬधकतम होता है। 

MCQ 

1. If two vectors and are collinear, then which of the following is true? / यǑद दो सǑदश 

और सरेंखी हɉ, तो Ǔनàन मɅ से कौन सा स×य है? 

a) 𝑎⃗  × 𝑏ሬ⃗  =0 
b) 𝑎⃗ . 𝑏ሬ⃗  =0 
c)ห𝑎⃗ + 𝑏ሬ⃗ ห = |𝑎⃗| + ห𝑏ሬ⃗ ห 

d)  ห𝑎⃗ − 𝑏ሬ⃗ ห = |𝑎⃗| − ห𝑏ሬ⃗ ห 

2. The direction cosines l, m, n of a vector satisfy which of the following conditions? 

/ ͩकसी सǑदश के Ǒदशा   कोÏया  l, m, n Ǔनàन मɅ से ͩकस शत[ को पूरा करते हɇ? 

a) l+m+n=1 
b) l2+m2+n2=1 
c) l2+m2 = n2 
d) l2=m2 = n2 

3. If the position vector of a point P dividing the line joining 𝑎⃗ and 𝑏ሬ⃗  internally in the 
ratio m:n is given by: / यǑद ͩकसी ǒबदं ुP का िèथǓत सǑदश, जो  𝑎⃗और 𝑏ሬ⃗  को आंतǐरक Ǿप स े

अनपुात m:n मɅ ͪवभािजत करता है, Ǔनàनͧलͨखत मɅ स ेकौन सा होगा? 

a) 𝑟 = (m 𝑏ሬ⃗  + n 𝑎⃗) / (m+n) 
b) 𝑟= (m 𝑎⃗ + n 𝑏ሬ⃗ ) / (m+n) 
c) 𝑟 = (m 𝑎⃗ - n 𝑏ሬ⃗ ) / (m+n) 
d) 𝑟  = (n 𝑏ሬ⃗  + m 𝑎⃗) / (m+n) 

4. If 𝑎.ሬሬሬ⃗  𝑏ሬሬ⃗ = 0 and 𝑎ሬሬ⃗  x  𝑏ሬሬ⃗  =0 then vectors 𝑎ሬሬ⃗  and  𝑏ሬሬ⃗  are: 

(a) Parallel / समानांतर 

(b) Collinear / संरेखीय  

(c) Mutually perpendicular / परèपर लंबवत 

(d) Either one of them is zero / तो उनमɅ से एक शूÛय है. 

5, If 𝑎⃗ = 3𝚤̂ + 4𝚥̂ and , 𝑏ሬ⃗ = 6𝚤̂ + 8𝚥 ̂ then vectors and are: 
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(a)Perpendicular / लंबवत 

(b) Parallel / समानांतर 

(c) Collinear / संरेखीय  

(d) Equal / समान 

6. The unit vector in the direction of 𝑎⃗ = 3𝚤̂ − 4𝚥̂ + 𝑘෠   is: 

सǑदश 𝑎⃗ = 3𝚤̂ − 4𝚥̂ + 𝑘෠ कȧ Ǒदशा मɅ एकांक सǑदश है - 

(a) ଷ

√ଶ଺
ı̂ +

ସ

√ଶ଺
ȷ̂+ ଵ

√ଶ଺
k෠ 

(b) ଷ

ଶ଺
ı̂ +

ସ

ଶ଺
ȷ̂+ ଵ

ଶ଺
k෠ 

(c) ଷ

ହ
ı̂ +

ସ

ହ
ȷ̂+ଵ

ହ
k෠ 

(d) 𝑎⃗ 

7. The cross product of two parallel vectors is: 

(a) A unit vector / एक इकाई सǑदश 

(b) A zero vector / एक शूÛय सǑदश 

(c) A scalar quantity / एक अǑदश राͧश 

(d) A non-zero vector / एक अशूÛय सǑदश 

8. The scalar (dot) product of two perpendicular vectors is always: 

(a) Positive / धना×मक 

(b) Negative / ऋणा×मक 

(c) Zero / शूÛय 

(d) One / एक 

 

One Word Answer Questions 

1. What is the mathematical representation of a vector with zero magnitude? 

शूÛय पǐरमाण वाले सǑदश का गͨणतीय ǓनǾपण Èया है? 
2. If the cross product of two non-zero vectors is zero, what can be said about their 

direction? 
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यǑद दो गैर-शूÛय सǑदशɉ का सǑदश गुणनफल शूÛय है, तो उनकȧ Ǒदशा के बारे मɅ 
Èया कहा जा सकता है? 

3. What is the term for a vector that has the same magnitude but opposite direction 
as a given vector? 

ͩकसी Ǒदए गए सǑदश के समान पǐरमाण लेͩकन ͪवपरȣत Ǒदशा   वाले सǑदश को 
Èया कहते हɇ? 

4. What is the position vector of a point that divides a line segment in the ratio 1:1 
internally? 

ͩकसी रेखाखडं को आंतǐरक Ǿप से 1:1 के अनुपात मɅ ͪवभािजत करने वाले ǒबदं ु
का िèथǓत सǑदश Èया होगा? 

5. Which mathematical operation between two vectors results in a scalar quantity? 

दो सǑदशɉ के बीच कौन सी गͨणतीय संͩĐया एक अǑदश राͧश उ×पÛन करती है? 

6. What is the angle between two vectors if their dot product is maximum? 

यǑद दो सǑदशɉ का अǑदश  गुणनफल अͬधकतम हो, तो उनके बीच कोण ͩकतना 
होगा? 

7. Which type of vectors always have a cross product with maximum magnitude? 

ͩकन Ĥकार के सǑदशɉ का सǑदश गुणनफल हमेशा अͬधकतम पǐरमाण का होता 
है? 

8. If a unit vector has direction cosines (l, m, n), what is the equation that relates 
them? 

यǑद एक इकाई सǑदश के Ǒदशा   कोÏया  (l, m, n) हɇ, तो उÛहɅ जोड़ने वालȣ 
समीकरण Èया होगी? 

9. What type of vector has all its components equal? 

ͩकस Ĥकार के सǑदश के सभी अवयव समान होते हɇ? 

10. Which property of a vector remains unchanged under scalar multiplication? 

ͩकसी सǑदश का कौन सा गुणधम[ अǑदश गुणा के तहत अपǐरवǓत[त रहता है? 

2 Marks Questions 

1. एक सǑदश  aሬ⃗  का पǐरमाण 5 इकाई है और यह Ǔनदȶशांक अ¢ɉ के साथ 60°, 45°, और 

30° कोण बनाता है। इसके अवयव £ात कȧिजए। 
A vector a has a magnitude of 5 units and makes angles of 60°, 45°, and 30° with 
the coordinate axes. Determine its components. 

2. यǑद दो सǑदश aሬ⃗ = 3ı̂ + 2ȷ-̂k෠ और b ሬሬሬ⃗ = 6ı̂ + 4ȷ-̂2k෠ संरेखीय हɇ, तो वह 𝜆 £ात कȧिजए 
िजसके ͧलए b ሬሬሬሬ⃗ = 𝜆aሬ⃗  हो। 
If two vectors aሬ⃗ = 3ı̂ + 2ȷ̂-k෠  and b ሬሬሬ⃗ = −ı̂ + 4ȷ̂+2k෠are collinear, find the value of 𝜆 

such that  b ሬሬሬሬ⃗ = 𝜆aሬ⃗ . 
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3. ǒबदं ुA(2,3,5) और B(4,1,-3) को 2:1 के अनुपात मɅ ͪवभािजत करने वाले ǒबदं ुका 
िèथǓत सǑदश £ात कȧिजए। 
Find the position vector of a point dividing the line segment joining points A(2,3,5) 
and B(4,1,-3) in the ratio 2:1 internally. 

4. परȣ¢ण कȧिजए ͩक  aሬ⃗ = 2ı̂ − ȷ+̂k෠  और  bሬ⃗ = 4ı̂ − 2ȷ̂ + 6k෠ समानांतर हɇ अथवा 
नहȣ।  

Verify whether the vectors aሬ⃗ = 2ı̂ − ȷ̂+k෠   and bሬ⃗ = 4ı̂ − 2ȷ̂ + 6k෠ are parallel or 
not. 

5. यǑद aሬ⃗ = 2ı̂ + 3ȷ̂-k෠  और  bሬ⃗ = −ı̂ + 4ȷ̂+2k෠ हɇ, तो  aሬ⃗ ⋅ bሬ⃗  £ात कȧिजए और इसका 
Ïयाͧमतीय अथ[ èपçट कȧिजए। 
Given that aሬ⃗ = 2ı̂ + 3ȷ̂-k෠   and bሬ⃗ = −ı̂ + 4ȷ̂+2k෠, find the value of aሬ⃗ ⋅ bሬ⃗  and interpret 

its significance geometrically. 
6. यǑद aሬ⃗ = ı̂ + ȷ̂ + k෠   और bሬ⃗ = 2ı̂ − ȷ̂ + 3k෠, तो स×याͪपत कȧिजए ͩक ये सǑदश 

लàबवत हɇ या नहȣं। 
If aሬ⃗ = ı̂ + ȷ̂ + k෠  and  bሬ⃗ = 2ı̂ − ȷ̂ + 3k෠, determine if the vectors are perpendicular. 

7. aሬ⃗ = 6ı̂ − 3ȷ̂ +2k෠  कȧ Ǒदशा मɅ एकांक सǑदश £ात कȧिजए। 
Find a unit vector in the direction of aሬ⃗ = 6ı̂ − 3ȷ̂ +2k෠ 

8. Ǒदए गए तीन ǒबदं ुA(1,2,3), B(4,5,6), और C(7,8,9) कȧ जांच करɅ ͩक Èया ABሬሬሬሬሬ⃗  और  

BCሬሬሬሬሬ⃗  संरेखीय हɇ। 
Given three points A(1,2,3), B(4,5,6), and C(7,8,9), verify whether the vectors ABሬሬሬሬሬ⃗   
and BCሬሬሬሬሬ⃗   are collinear 

9. यǑद ͩकसी ǒबदं ुका िèथǓत सǑदश r⃗ = xı̂ + yȷ̂ + zk෠ है, तो इसका पǐरमाण £ात 
कȧिजए और इसे इसके अवयवɉ के Ǿप मɅ åयÈत कȧिजए। 
If the position vector of a point is r⃗ = xı̂ + yȷ̂ + zk෠, find its magnitude and express it 
in terms of its components. 

10. सǑदश गुणनफल का उपयोग करके उस ǒğभुज का ¢ेğफल £ात कȧिजए िजसके 
शीष[ A(1,2,3), B(4,5,6), और C(7,8,10) हɇ। 
Find the area of a triangle whose vertices are given by A(1,2,3), B(4,5,6), and 
C(7,8,10) using vector cross product. 

4 Marks Questions  

Question 1: 

 If A and B are two points with position vectors 𝑎⃗ and 𝑏ሬሬ⃗  respectively, find the position 
vector of a point P dividing the line segment AB internally in the ratio m:n. 
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 यǑद A और B दो ǒबदं ुहɇ िजनके िèथǓत सǑदश Đमशः𝑎⃗ और  𝑏ሬሬ⃗  हɇ, तो उस ǒबदं ुP का 
िèथǓत सǑदश £ात कȧिजए जो रेखा खडं AB को आंतǐरक Ǿप से अनुपात m:n मɅ 
ͪवभािजत करता है। 

Question 2: 

 If A, B, and C are three non-collinear points, prove that the vectors ABሬሬሬሬሬ⃗    and ACሬሬሬሬሬ⃗    are 
parallel if and only if B, C, and O are collinear, where O is the origin. 

 यǑद A, B, और C तीन असंरेखीय ǒबदं ुहɇ, तो ͧसɮध कȧिजए ͩक सǑदश ABሬሬሬሬሬ⃗  और ACሬሬሬሬሬ⃗  तभी 
और केवल तभी समांतर हɉगे जब B, C, और O (जहाँ O मूल ǒबदं ुहै) संरेखीय हɉ। 

 Q3 . A triangle has its vertices at A(1, 2, 3), B(4, 5, 6), and C(7, 8, 9). Find the magnitude and 
direction cosines of the vector ABሬሬሬሬ⃗  + ACሬሬሬሬ⃗ . 

  एक ǒğभजु के शीष[ A(1, 2, 3), B(4, 5, 6) और C(7, 8, 9) हɇ। सǑदश ABሬሬሬሬ⃗  + ACሬሬሬሬ⃗  का पǐरमाण और Ǒदशा 
कोÏया £ात करɅ। 

 Q4 . Verify  whether the vectors  aሬ⃗  = i ̂ − 2j ̂ +3k෠  and  bሬ⃗  =−2ı̂ + 4ȷ-̂6k෠  are collinear or not . 

   परȣ¢ण  करɅ ͩक सǑदश  aሬ⃗  = i ̂ − 2j ̂ +3k෠ और bሬ⃗   =−2ı̂ + 4ȷ-̂6k෠ सरेंखीय  हɇ अथवा नहȣं। 

 Q5. If the position vector of point A is  3 i ̂ + 2j ̂ − k෠ and that of B is = −ı̂ + 4ȷ̂ +2k෠, find the  
position vector of the midpoint of AB. 

  Ĥæन 3: यǑद ǒबदं ुA का िèथǓत सǑदश 3 i ̂ + 2j ̂ − k෠और ǒबदं ुB का िèथǓत सǑदश = −ı̂ + 4ȷ̂ +2k෠ हो, तो 
AB के मÚयǒबदं ुका िèथǓत सǑदश £ात करɅ। 

. Q6. Find the unit vector perpendicular to both  aሬ⃗  = i ̂ + 2j ̂ +3k෠ and bሬ⃗   = 4i ̂ + 5j ̂ +6k෠  

 सǑदश   aሬ⃗  = i ̂ + 2j ̂ +3k෠ और b⃗ = i ̂ + 5j ̂ +6k෠ दोनɉ के  लबंवत इकाई सǑदश £ात करɅ। 

 

 Q7. Find the angle between the vectors  aሬ⃗ =2 i ̂ − j ̂ +3k෠   and bሬ⃗   =  i ̂ + 4j ̂ −2k෠ using the dot 
product formula. 

    अǑदश गणुनफल सğू का उपयोग करके a⃗ =2 i ̂ − j ̂ +3k෠   और  b⃗ =  i ̂ + 4j ̂ −2k෠के बीच कोण £ात 

करɅ। 

 Q8. If   aሬ⃗  = i ̂ + 2j ̂ − k෠   and bሬ⃗   = -3 i ̂ +4k෠,  then verify whether  their cross product is 
perpendicular to both vectors or not . 
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यǑद  aሬ⃗  = i ̂ + 2j ̂ − k෠   और bሬ⃗   = -3 i ̂ +4k෠ हो, तो  परȣ¢ण करɅ ͩक इनका  सǑदश   गणुनफल दोनɉ   
सǑदशɉ के  लबंवत है अथवा नहȣ । 

 Q9. Find the ratio in which the point P(3, -1, 4) divides the line joining A(2, 3, 5) and B(6, -2, 
7). 

    ǒबदं ुP(3, -1, 4), A(2, 3, 5) और B(6, -2, 7) को जोड़ने वालȣ रेखा को ͩकस अनपुात मɅ ͪवभािजत करता 
है, £ात करɅ। 

 Q10. Find the scalar projection of the vector a⃗ =  3ı̂ − 2ȷ̂ + 5k෠ on bሬ⃗  = 4`i෢ + j ̂ − 2k෠ 

सǑदश  aሬ⃗  = 3ı̂ − 2ȷ̂ + 5k෠ का bሬ⃗   = 4`i෢ + j ̂ − 2k෠ पर अǑदश Ĥ¢ेप £ात करɅ। 

Very Long Answer Type Questions (5 Marks Each) 
 
Q1. A force of magnitude 10 N is acting at a point making angles 60° and 45° with the x-axis 
and y-axis respectively. Find the component of this force along the z-axis. 

 एक ǒबदं ुपर 10 N पǐरमाण का बल काय[ कर रहा है जो x-अ¢ और y-अ¢ के साथ Đमशः 60° और 45° के 

कोण बना रहा है। z-अ¢ के साथ इस बल के घटक का मान £ात कȧिजए। 
 

Q2. Find the position vector of the centroid of a triangle whose vertices are given by A(1, 2, 
3), B(4, 5, 6), and C(7, 8, 9). 

 एक ǒğभजु के केÛġक का िèथǓत  सǑदश £ात कȧिजए, िजसके शीष[ ǒबदं ुA(1, 2, 3), B(4, 5, 6), और 

C(7, 8, 9) Ǒदए गए हɇ। 
 

Q3. If  aሬ⃗ =  i ̂ + 2j ̂ − k෠     and  bሬ⃗ = 3ı̂ − ȷ̂ + 4k෠,  

 then find a unit vector that is perpendicular to both a⃗and b⃗. Also, verify using the 
scalar  product that this unit vector is indeed perpendicular to both a⃗ and b⃗.  

यǑद aሬ⃗  =  𝐢መ + 𝟐𝐣መ − 𝐤෠      and  𝑏ሬ⃗  = 𝟑`𝐢෢ − 𝐣መ + 𝟒𝐤෠ , हɇ, तो 𝒂ሬሬ⃗  और 𝒃ሬሬ⃗   दोनɉ के लबंवत एक इकाई सǑदश 
)unit vector) £ात कȧिजए। साथ हȣ अǑदश गणुनफल कȧ सहायता से यह भी स×याͪपत कȧिजए 
ͩक वह इकाई सǑदश वाèतव मɅ 𝒂ሬሬ⃗  और 𝒃ሬሬ⃗  दोनɉ के लबंवत है।  

Ĥ 3. यǑद  aሬ⃗  =  𝐢መ + 𝟐𝐣መ − 𝐤෠और   𝑏ሬ⃗  = 𝟑`𝐢෢ − 𝐣መ + 𝟒𝐤෠ हो, तो aሬ⃗  और bሬ⃗   दोनɉ के लबंवत एक इकाई सǑदश £ात 

कȧिजए। 
 



9 | P a g e  
 

Q4.  अǑदश गणुनफल सğू का उपयोग करके दो सǑदशɉ  aሬ⃗  =  𝟐𝐢෡ − 𝟑𝐣መ + 𝐤෠  और 𝑏ሬ⃗  = `𝐢෠ + 𝟒𝐣መ − 𝟐𝐤෠    के 

बीच का कोण £ात कȧिजए। दोनɉ सǑदशɉ के पǐरणाम पथृक स े£ात करɅ तथा उनकȧ सहायता से 
अǑदश गणुनफल कȧ सहायता  से ĤाÜत ͩकए गए पǐरणाम कȧ पिुçट करɅ।  

Using the dot product formula, find the angle between the two vectors- 

aሬ⃗  =  𝟐𝐢෡ − 𝟑𝐣መ + 𝐤෠ and 𝑏ሬ⃗  = `𝐢෠ + 𝟒𝐣መ − 𝟐𝐤෠ . Calculate the magnitudes of both vectors separately 
and verify the result obtained through the dot product. 

Q5. Two vectors are given: 𝑎ሬሬሬ⃗ = 2ı-̂j+3k෠ and 𝑏ሬ⃗ = ı̂+2j − k෠ 

(a) Find the area of the parallelogram formed by these vectors. 
(b) Find the unit vector perpendicular to the plane of parallelogram. 

(c) Find the acute angle between the two vectors with the help of dot product formula, 

and hence verify the area using the following   formula: Area = |a⃗| × |b⃗| × sinθ 

दो सǑदश Ǒदए गए हɇ  𝑎ሬሬሬ⃗ = 2ı-̂j+3k෠  and 𝑏ሬ⃗ = ı+̂2j − k෠ 

(a) इन दो सǑदशɉ ɮवारा Ǔनͧम[त समांतर चतभुु[ज )parallelogram) का ¢ेğफल £ात कȧिजए। 

(b)  समांतर चतभुु[ज के तल पर लबंवत एकांक सǑदश £ात कȧिजए। 

(c)  दोनɉ सǑदशɉ के बीच बना Ûयून कोण अǑदश गणुन सğू से £ात कȧिजए और Ǔनàनͧलͨखत 

सूğ ɮवारा ¢ेğफल कȧ पुिçट कȧिजए: 

Area = |a⃗| × |b⃗| × sinθ 

Given: cos−1(−0.3270)≈109.1o , sin(70.9o) ≈0.9455, √𝟑≈1.732 

Q6. Show that the three points A(1, 2, 3), B(4, 6, 8), and C(7, 10, 13) are collinear using vector 
method. Further, determine whether point B divides line segment AC in a specific ratio if yes 
then calculate the ratio .  

 सǑदश ͪवͬध का उपयोग करके यह ͧसɮध कȧिजए ͩक ǒबदं ुA(1, 2, 3), B(4, 6, 8), तथा C(7, 10, 

13) एक हȣ रेखा पर िèथत हɇ। यह Ǔनधा[ǐरत कȧिजए ͩक Èया ǒबदं ुB, रेखा खंड AC को ͩकसी 

Ǔनिæचत अनपुात मɅ ͪवभािजत करता है; यǑद हाँ, तो उस अनपुात कȧ गणना कȧिजए। 

 

Q7. Prove that the diagonals of a parallelogram bisect each other using vector methods. 

सǑदश ͪवͬधयɉ का उपयोग करके ͧसɮध कȧिजए ͩक समांतर चतभुु[ज कȧ ͪवकण[ रेखाएँ एक-दसूरे को 

समɮͪवभािजत करती हɇ। 



10 | P a g e  
 

Q8. Find the value of   λ   so that the vectors   𝑎ሬሬሬ⃗ = 3ı̂-λȷ+̂k෠     and 𝑏ሬ⃗ = −ı̂+2ȷ̂ − 4k෠      are 
perpendicular. Additionally, interpret geometrically what it means for the vectors to be 

perpendicular and verify your result using the following dot product formula:  𝑎ሬሬሬ⃗ .  𝑏 ሬሬሬሬ⃗ = |a⃗| × 
|b⃗| × cos θ 

 λ का मान £ात कȧिजए िजसके ͧलए  सǑदश   𝑎ሬሬሬ⃗ = 3ı̂-λȷ+̂k෠   और   𝑏ሬ⃗ = −ı+̂2ȷ̂ − 4k෠   एक-दसूरे के 

लबंवत हɉ। Ïयाͧमतीय Ǿप से समझाइए ͩक दो सǑदशɉ का लàबवत होना Èया दशा[ता है। अपन े

उƣर कȧ पुिçट अǑदश गुणनफल के Ǔनàन सूğ का Ĥयोग करके कȧिजए: 

 𝑎ሬሬሬ⃗ .  𝑏 ሬሬሬሬ⃗ = |a⃗| × |b⃗| × cos θ 

Q9. The line passes through the points A(1,2,3)A(1, 2, 3)A(1,2,3) and B(4,5,6)B(4, 5, 6)B(4,5,6). 
(a) Find the direction ratios and direction cosines of the line. 
(b) Determine the vector equation of the line passing through A and B. 
(c) Check whether the point P(7,8,9)P(7, 8, 9)P(7,8,9) lies on this line. Justify your answer using 
vector method. 

रेखा ǒबदंओु ंA(1,2,3) और B(4,5,6)B(4, 5, 6) से होकर गजुरती है। 

(a) रेखा के Ǒदक अनपुात और Ǒदशा कोÏया £ात कȧिजए। 

(b) A और B से होकर गजुरने वालȣ रेखा कȧ सǑदश समीकरण (Vector Equation) £ात कȧिजए। 

(c) Èया ǒबदं ुP(7,8,9) इस रेखा पर िèथत है? सǑदश ͪवͬध (Vector Method) से पिुçट कȧिजए।  

Q 10. If  𝑎ሬሬሬ⃗ ,  𝑏 ሬሬሬሬ⃗ , 𝑐 ሬሬ⃗  are three vectors such that  𝑎ሬሬሬ⃗ +   𝑏 ሬሬሬሬ⃗ + 𝑐 ሬሬ⃗ = 0 and |  𝑎ሬሬሬ⃗ |=2, | 𝑏ሬሬ⃗ |=3 and | 𝑐ሬሬ⃗ |=5 then 

find the value of  𝑎ሬሬሬ⃗ .  𝑏 ሬሬሬሬ⃗ +  𝑏ሬሬ⃗ .  𝑐 ሬሬሬ⃗ +  𝑐ሬሬ⃗ .  𝑎 ሬሬሬሬ⃗  

यǑद If  𝑎ሬሬሬ⃗ ,  𝑏 ሬሬሬሬ⃗ , 𝑐 ሬሬ⃗  तीन सǑदश इस Ĥकार हɇ ͩक  𝑎ሬሬሬ⃗ +   𝑏 ሬሬሬሬ⃗ + 𝑐 ሬሬ⃗ = 0 और |  𝑎ሬሬሬ⃗ |=2, | 𝑏ሬሬ⃗ |=3 एव ं| 𝑐ሬሬ⃗ |=5 तो 

 𝑎ሬሬሬ⃗ .  𝑏 ሬሬሬሬ⃗ +  𝑏ሬሬ⃗ .  𝑐 ሬሬሬ⃗ +  𝑐ሬሬ⃗ .  𝑎 ሬሬሬሬ⃗  का मान £ात करɅ।  

 

Case Study based Questions 

Case Study 1:  

A ship is sailing in the ocean with an initial position vector A(2,3,1) The captain changes 
course, and after a few hours, the ship reaches position B(5,7,4) The displacement of the 
ship is represented by a vector. 
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एक जहाज महासागर मɅ Ĥारंͧभक िèथǓत सǑदश A(2,3,1) के साथ नौकायन कर रहा है। 
कÜतान ने Ǒदशा बदलȣ और कुछ घंटɉ के बाद जहाज िèथǓत B(5,7,4) पर पहँुच गया। 
जहाज का ͪवèथापन एक सǑदश ɮवारा दशा[या गया है। 

Questions: 

 

ͪवèथापन सǑदश ABሬሬሬሬሬ⃗  का £ात कȧिजए।  

 

ͪवèथापन सǑदश ABሬሬሬሬሬ⃗   का पǐरमाण £ात कȧिजए।  

 

ͪवèथापन सǑदश कȧ Ǒदक कोÏया £ात कȧिजए।  

 

परȣ¢ण कȧिजए कȧ Èया ͪवèथापन सǑदश ABሬሬሬሬሬ⃗  एकांक सǑदश है।   

 

 

 

 

. 

 

 

 


